Ha =t

=123 Ol 22Xt E£= Ol 2= O FAt

F71(

e
[s)
=

7t 2022-2

i

foF

To!
K0
<d

ol
ujo

84

)

=<4

2022. 10. 31.(&) ~ 11. 7.(&) 18:00 7}X|

nE

=<

Aol XM=

| AAtRE gE

SHE
= o

VIEX|

[7H~[2H 47tX] M&FE 11/7(2

=2 =
™ &

57FX] M

or

[l

KK

ok

r

3
=

AL EEA A

XH031-219-2311) &

y=
o

C
[

—

AL
o

1

Al

X

0| 2 (ajoueng@ajou.ac.kr) EE= A(031-219-1609

200,000#

=
)

1

==

ro
I+

11

OH.

o

e

.
(=]
=

808490-29-000617 Of=CHetil SSHCH

A ZtOI M Al B

* AR A7 A

Sl

ZtX|2tE OJHIZAl =2 AL 27

N
o

g7}

6. 7|E} QtLHARR

{oF

o

MESHFAIH ELIL

=
=

M

L
=

allll

E7I%, 12/26) LHO|l ZIASHAIH ELICE 7Y

foF
Kr

=
Ho
o

—

el

2t

o/

mjny

ljo
ok
0
o/
U

ol
l
EN

L|Ct.

I

H= 0| =7t

o =
= &

XEns MBEFEMRS BHOFA|Z| HEELIC


mailto:ajoueng@ajou.ac.kr

FAQ(X}

O HFELCH

|7C|-
(o

HoL

10
P

ol

<r
160

2| &L Ct

[alY

ol

il

oI

(o]
FUNM: X =2l MY

__I_I_
| &

o
MAe

ol

Jo!

FLICE.

e
o
=

=7t HESHO SHEHo| MESFAI7| =

{oF

ol
30
Kr

-_

K

A F=H51LR?

]
(=]

of

e

AL

of ZH8Al X=

=
(L

FA[Z|

Mo

A 282 X =us7t X|

Hi ', <
MFE MBoliFAl7] HHELIC

2 XNeus2 Ats

A%y

AR

Al
O

A BHE

—_
o
s

AP oL St 2 HoiX LiR?

Al B LTk

rSke)

oM HEZ X|

o
=

st

Jjo

2dS 1801y Xt =2HAS 2ABIFAI7] BEELICH

gL ct)

F

ufn

4

IS

oA B2

ql

%0
=<

A

<0

N
jor
Bl

o/

x a¥ Jhsect

x|
=]

A ¥Lta?

]
(=]

of

At

<0
1] ]

Kf

I

=13
=

ER]) 3%,

10

10

i

il

3

E

IF

M EHE(FH

LICE. X[===0| X[A|0f CCet

i

nal

Hl

]

__I_I_

4

ol

Tl

0|
il

x
e

b

-
o
H| g}

of HEO]E Atz

1T

St=5 TH[5IH,

PPT X2 HZE0| 2|F27IR?

al
x

AHAl PPT HE

<0
ok
Al

Lict, whatq 7hE

St
=

20| &0

1] ]

of 2t=7t o|F& OrHL(C} CfEh

|
[

== W& 27t g7 o

i
<0
[
Ml

14

< oI



goll™ 2LtR?

| =
—

=2| SMH|

2 I B2
A = 0| 2B 2WA

Q- _I.IE

ki

o™ UK EELE 7]

=
—

AFEBi A ELC

EL

=
—

M Yx S MESIRSHE. £7/0| ZEo| L0

|

ol

14
X0
i

K

I

Ab ZF HEO| 2| FAte2 OFELIL

V|
O

~ =
HE

= H

ofl
ol

HSsH0F BHLtR?

710) Rarg A z2on ERXEHAN

or
Fl

__L__m_
<
o
Hl

MFYLICE

—
—

HEAl M Z3HOF St

=
0l
il

ol

—4

Joil

g0l AFE7| 2o ==X%

7| LA MZ5tAIE
M=ot EeME &Y

St
=l

f

=100

ofnu

Ct.



